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1.(AAL =643 BIABEMITEAABCH c=1,a=2,C=30°,Ml4=( P
A.60° B.90° C.45° D.120°

324

FRAT B iEix T 3T BT VA #2413 sin A=1.

’sin A sin C’ sin A 51n30 ’

# 0°<A<180° B VA 4=90° # it B




2.(ANAL =643 3 A ) A AABCH ,AB=3,BC=4,AC= /z, M| AABCI]
HAREFT( p

A3 BA4/11 C.5 D.24/5

AB?+BC%-AC? _ 32442.(/5)* 5

DA Oy A P32 30 My o 42 _ 2
FEE AT o 5% K AR 1T cos B=— —— — !

% 0°<B<180° 1 sin B=V1-cos2B = "L, A VA Sausc=3AB-BC-sin B

—1x3xxL = V1T

L B.



3. (ANAsL Z6.4.3 7 5122 5 4 ) an B, 117 X st i A DU AN 5G 2Rk 4,B,C,D.
KIC DA F: 0l S AE VT ) B 22, B0 B 20 /3 km, kvl 4, BAEVT ) AL 2,45
/ ACB=175°,/ACD=120°, £/ ADC=30°, ~ ADB=45°,| 4, B} /| 3= ']
BNC D

A.15V6 km B.20v3 km
C.40 km D.20v/5 km




2t £ AACD ¥,/ ADC=30°,/ ACD=120°Ff VA .~/ CAD=30°,
BP / CAD=/ADC, ¥ AC=CD=20/3.
£ ABDC ¥,/ CBD=180°-( £LBCD+ £ BDC)=180°-(45°+75°)=60°.

C , BC CD
1F 57 ' 3¥ 43 —
B LE 72 FJ"sin 2BDC  sin«CBD’
, 20+/3%sin75 ° 20+/3x%sin (30° +45°
Eig BO=————— = ( )
sin60 V3
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=40(sin 30°cos 45°+cos 30°sin 450)210(\/5 + \/i).

B A% %0 ,.cos L ACB=cos 75°=cos 30°cos 45°-sin 30°sin 4502\/6;/7.EAABC FoH

477 % 3943 AB*=AC*+BC*-2AC-BC-cos £ ACB=(20v3)*+[10(/6 + V2)2
2x20/3x10(+/6 + V2)xcos 75°=2 000, /%1% AB=205,8F B/~ % 58 A,B Z 18] &%
$E % 7 2075 km.# it D.
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W 1E 7% E 3T 47 = 42 =2 +

sin60 ° sin75 °
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acos B-bcos A=c,H.C= g,)”\'JBZ( C)
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2T Hacos B-bcos A=c & iE 7% & P 4Fsin Acos B-sin Bcos A=sin C,
FFsin(A-B)=sin C.
X H HAA,B,CAAABCHI A A,

P vA A-B=CFf A A-B=;. (D

S_E H A+B=n—C=4?T[,@



2.(2023- 4L 7%, T)EAABCH (a+b)(sin A-sin C)=b(sin A-sin B),M|C=( RB)

g T 2T 5Tt
Ag B'E C? D. ?

B4 B A (a+c)(sin A-sin C)=b(sin A-sin B),PT VAW 5% & I2/F

22— 2 2,72 2 _a’tb®-c® _ab _ 1
(a+c)(a-c)=b(a-b),BF a*-c=ab-b~,# a*+b=-c==ab,# cos C e

A 0<C<m,FTVA C=7.#i% B
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B=6O°,b2=§ac,)rlﬂ sin A+sin C=( C )

3 7 3
Al B2 ¢ p L
2 2 2
9 L .. 4 . 1 9
i bZZZacJ%'L sin Asin C ngsz=§,X b*=a*+c*-2accos B=a2+cz—ac=zac,
: 13 . . 13 ., . 13
FIT VA a2+cz=zac,5’l7 sin’4+sin’C =—-sin Asin C=—,

. . . . L 7
R(sin A+sin C)*=sin’4 +sin*C+2sin Asin C=,

Fi A sin A+sin c=§. ¥ ik C.



4.(2021-2 B T,3215)1IAABCIH N FA,B,CIIX 14 435 Ha,b,c,
B=00°.a%+c2=3ac, | b= 22

24T B A& 40 AABC &9 d A2

=%acsin 60°=+/3,

I 1F qc=4.45 50513 a*+c*=3ac=12.

——

BN

A B=60°, W 5% 2 = 15 b*=a’+c*-2accos B=12-2x4xcos 60°=8,

B VA b=2+/2.
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IJsm A+sin B-sin C

a,b,c,B+C=60°,a=3, -

L B

A2V3 Bg: oF D.6

sin120 °

&W?ﬁmwc¢BﬂjawﬁuA1ﬂwﬁMMA= 3

=§$£%i

asin B asin C sin A+sin B-sin C sin A+sin B-sin C sin A+sin B-sin C
iﬁg_"]'f%?‘b_ : ,C—— ,D:"J — T = e TR =
SlnA SlnA a‘l"b'C a+a51n asin a 1+sm Sin
sinA sinA sin A sin A

sinA+sinB-sinC _ sinA _ 3 Wi B

sin A+sin B-sin C a 6
a: .
sin A




(2)(2024-#& 32 B 1A WO)IEAABCH, N 1 A,B,CHIT X B3 73l 7 a,b,c, & K1b-
c= aZlIZSin B=3sin C,llcos A=( A

At B.
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f2HT B 2sin B=3sin C, 0| 2h=3¢, ] b-c=b— gbZia,EP bZZa,DJ'] c=§b=§ X %aZ%a

2_q? 2q 2+ a : a’ > 1
2+c?-a 4 2% T 16 -
¥ cos A= =t 2 =-10=—_ ik A
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asin C=csinA
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